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Question 1.Select the related word/letters/numbers from the given alternatives:

& I farehenl & & Hafeerd Qree/ 3ieR/Ean 1 v
Magazine : Editor :: Drama : ?

9T : GFITEH 1 ACH : ?
Options:

1) Director

(G

2) Hero

T

3) Heroine

ATRrepr

4) Painter

[EECary

Correct Answer: Director
[GeyE
Candidate Answer: Director

IGrAlc

Question 2.Select the related word/letters/numbers from the given alternatives:

& 71 faemedt 7 @ Hafeerd eree)sarl/aear & gfav)
ACEG : IKMO :: QSUW : ?

Options:

1) YZCE

2) YACD

3) YACE

4) YBCE
Correct Answer: YACE
Candidate Answer: YACE

Question 3.Select the related word/letters/numbers from the given alternatives:

3 1 ol & @ Haferd eree) 3R/ aedr # g
12:39::15:7

Options:

1) 48

2)52

3)39

4) 51
Correct Answer: 48
Candidate Answer: 52
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Question 4.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

TFATaf@T Teet # 2T 10 faehenl & & Tawe eree/ 31ar/HEdn o i Yiaav ?
Options:

1) Torch

T

2) Battery

F

3) Candle

AFASedr

4) Lamp

qus

Correct Answer: Battery

e

Candidate Answer: Battery
e

Question 5.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

TrATAf@T eet # fow 1w faeheul 7 @ fawey eree)/ 31ar/EEdT 7o &1 AT ?

Options:
1) CA

2) FD
3)KI

4)TQ
Correct Answer: TQ
Candidate Answer: TQ

Question 6.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

TArATaf@d veet # fow 1w faehenl o @ fawey se)/ 31ar/EEdT 7o &l giaAv ?

Options:
1) 73-61

2) 57-69
3) 47-59

4) 42-29
Correct Answer: 42-29
Candidate Answer: 42-29

Question 7.Arrange the following words as per order in the dictionary.
ATl 2use] 1 Aseehien & T 7T A & ITER fAfge ?

1. Scarf 2.Scene 3.Shell 4.Survey 5.Stream



Options:
1)1,2,4,5,3

2)2,451,3
3)3,1,2,5,4

4)1,2,3,5 4
Correct Answer: 1,2, 3,5, 4
Candidate Answer: 1, 2, 3,5, 4

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series._
TrATAT@T Teat & Ueh 3iefeha T a2 B, FSraat veh ue v &1 ferw a1v fashedt & a5 @61 fashed fAw it 3feTshat sl g1 Y ?

DCB, HGF, ?, PON
Options:

1) LKJ

2) QRO

3) SUM

4) XzY
Correct Answer: LK]
Candidate Answer: LKJ

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
fAFATRIT get & T Jiegshat fem 1T B, FHaal Ueh 9 e &1 U 10 fashedt & & ag @Y fashed AT S 3egshad I QR ?

4,9, 16, 25,36,7?
Options:

1) 49

2) 56

3)21

4) 94
Correct Answer: 49
Candidate Answer: 49

Question 10.A is D's brother. D is B's father. B&C are sisters. How is C related to A?

A,DHFEE, D, BH VAT, B 3R C 581 §1 C F A & TE IRV ?
Options:

1) Cousin

EEnEro

2) Niece

AT

3) Aunt

ardr

4) Nephew

AT

Correct Answer: Niece
HAST

Candidate Answer: Niece
A

Question 11.At a college party 5 girls are sitting in a row. P is to the left of M and to the right of O. R is sitting to the right of N, but to the left of O. Who is sitting in
the middle?

lcloT ST Teh TTET T Ueh GfeFe] 7 5 Tsforal 48T §1 P, M & SR 31K O % grit 3T 48181 R, N & i 3K ] O & I i3S g1 e A 7 § 2

Options:
1)0

2)R
3)P

49HM
Correct Answer: O
Candidate Answer: O



Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:
Frrfafa fasmedt & @ g 2rea AT S T 10 2reg & 37aRT T F2aT 93k 8T T SIT e T ?

CONSULTATION

Options:

1) CONSTANT

2) NATION

3) SALUTE

4) STATION
Correct Answer: SALUTE
Candidate Answer: SALUTE

Question 13.If S = 19, SUN = 54 and CAKE = 20 , then MISTAKE = ?

f& S= 19, SUN = 54 3IX CAKE = 20 &1, df MISTAKE e s1arT glem ?

Options:
1) 78

2) 68
3)59

4) 48
Correct Answer: 78
Candidate Answer: 78

Question 14.If '+' stands for multiplication, '-' stands for addition, 'x' stands for division, then what is the value of 128 + 9 - 16 x4 =?

e '+ o1 31 IO Y, '-' T 31 SFAT 81 3 X' S 3 AT EY, A 128 + 9 - 16 x 4 = FATRIT

Options:
1)73

2) 256
3) 1156

4) 1352
Correct Answer: 1156
Candidate Answer: 1156

Question 15.1In this question, some equations are solved on the basis of a certain system. On the same basis find out the correct answer from amongst the four
alternatives for the unsolved equation.

F THIHOT Ueh ARG JOTel & gl T 1T | 36 3R 0¥ T 710 faehied] & & Wel Seca goAe fof@ge 2
6x2x9 =269

8x7x1=781
4x1x3=7?

Options:
1) 431

2) 413
3) 341

4) 143
Correct Answer: 143
Candidate Answer: 143

Question 16.Select the missing numbers from the given alternatives

R 9T Ryt 3 & e 379 7 T ?
9 11 | 13
4 7
3 4 2
81 (176 | ?




Options:
1) 143

2) 169
3) 455

4) 545
Correct Answer: 455
Candidate Answer: 455

Question 17.To attend an exam, Sudhir reached the school by travelling 5 km towards South, and after a sharp left turn, he travelled for about 10 km. He again made
a sharp left turn and reached in front of the school by travelling 5 km more. Which direction is Sudhir's starting point from the school?

forlr et 3 ot o forw G Tehet & T 5 fo6.3 0. Gfator &1 30X =re, T ot & amt 773 T 10 o, 3. reir| T cioft & st 7[5 X Tofel o EeT g 1 10T (97 oG &
GUR o Tl % fonar a7 9 Tl @ frw e A R 2
Options:

1) East

o

2) West

RIECE:)

3) North

3R

4) South

afayor

Correct Answer: West
gfasr

Candidate Answer: East

EC)

kN

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements: 1. All books are novels.

2. Some novels are poems.

Conclusions: I. Some books are poems.

I1. Some poems are novels.

FAfAfET v & ts a1 e aFded e T €, foraes 3T &) Asay/ATTdT, I 3R I [Fehrer 7= 1 39! faaR e & o aoFded dcg & 9 98 IARgd: A d azai J
e g 81T 8l 3mueh! fAvTT e & o U 910 gardey & O laar ARad &7 & T8 fAshy/aAwadr A o Ghar g ?

aFdey : 1. q qEdeh 3uear ¢
2. F& 3UAN HiadC g
sy : I %o TEah Hiaa g1

11 $& HAd 393 &

Options:

1) Only conclusion I follows

o frsey I T &

2) Only conclusion II follows

Fae sy 11 Tgr g

3) Neither conclusion I nor conclusion II follows
A1 ar sy 1 T g, 3 o & sy 11 3 81
4) Both conclusion I and conclusion II follow

forseny I 3 11 &t w8 &1

Correct Answer: Only conclusion II follows

el ferseny 11 |8 B

Candidate Answer: Both conclusion I and conclusion II follow

forsens I 31 11 St |8 &1

Question 19.Which symbol will appear on the face opposite to the face of a circle O in the cube given below?

Jed O F Foldh & Ao Holdh TR Fi=A-H1 Felieh fems &am ?

A e A




Options:

1)
2)
3)
O
4)
Correct Answer:
Candidate Answer:

Question 20.Which one of the following diagrams represents the relationship between Insects, Flies and Dogs?

fArfaf@a & @ Fla-a1 3@ Hi, AfFEt 3R Fedl & S Faer 1 T Heaor aarg ?



Candidate Answer:




Question 21.Which answer figure will complete the pattern in the question figure?

FHleT-TT SoclX 3Tt TR SMFTA & FTTdT T T M 2

2)

3)

4)

Correct Answer:

Candidate Answer:




Question 22.From the given answer figures, select the one in which the question figure is hidden.

& 1 Seal ITHTAT # A 3 3eak 3Ff 1 IfAT forws yea anpfa Afka €2

Options:
1)

2)

4)

Correct Answer:

Candidate Answer:




Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

I fdlt rarer 7 7 T aTv Sret 3 fe@TU 3TER AISH Fer ST A Wiele! 1 a6 Fohe JTTer St fens gam 2

gl

Options:

1)
O o
o 0
o 0
o (=}
2)
o o
(] =]
3)
=] (=]
o
o o
49
o o
o 1
o
o o
Correct Answer:
=} o
L= 1+ |
[+ /L = |
o o

Candidate Answer:

co
00




Question 24.Which of the answer figure is exactly the mirror image of the given figure, when the mirror is held on the line AB ?

3ol it 7 -2 3y geaT 3ty &1 wey ufarfareer ghef, srafes 2doT AB YT WX war gt ?

A
B
Options:
1)

2)

=B B B

Correct Answer:

-

Candidate Answer:

g




Question 25.1In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., 'L' can be represented by 12, 24 etc., and 'R’ can
be represented by 55, 67 etc. Similarly you have to identify the set for the word 'SENT'

RrAfaf@a veet 7 fasredt 7 RRU arv Fear-wag, 3w & & g9if gany erffe 717 §, 519 fo iy few arw af smeggh # 81 3meyg [ & Fawt iR dfaed fraear o a4 d &
I1$ B, 3R 3TeYg 11 % 5 ¥ 9 o, 31 HTSTg! W Ueh &R Sl Ugel 3HHT Uit 3N S 7 w87 HE&AT ST ST AT HeheTT &1 37607 & T, LY 12, 24 311 g@rr airan
ST §halT § 4T R &I 55, 673711 SaRT GRITaT ST HohelT § | S8 a¥E ¥ e AT 2reg 'SENT' & fow &g 97 qgameietm &

AR Z2=xmc-H w0

8
N
K

T

U

'R

MATRIX | MATRIX 11

0|12 3 |4 5 6 7
O|L|E|IO|S |C 5 R K U
1S |€|L | E O 6 N TR
2 EOS |C|L 7 K UN
3| C|L|E | O]|S 8 TR K
4 0|8 C|L |E 9 UNT
Options:

1) 10, 20, 58, 77
2) 22, 32, 65, 78
3) 34, 44, 67, 87

4) 41, 13, 87, 68
Correct Answer: 22, 32, 65, 78
Candidate Answer: 22, 32, 65, 78

Question 26.Swarna Jayanti Gram Swarojgar Yojna has now been restructured as

TGOSl A FUSHIR ISTAT TS glhT 319 FIT 8IS & ?

Options:

1) Prime Minister's Rojgar Yojna
JUAHAT U FieTlT

2) National Rural Livelihoods Mission
TSERT AT SHfdenr fFRE

3) Jawahar Gram Samriddhi Yojana
STATEY UTH Tl ATl

4) Sampoorna Gramin Rojgar Yojana
FOT THOT AR Aater

Correct Answer: National Rural Livelihoods Mission
TET FTEoT SR fARE

Candidate Answer: Prime Minister's Rojgar Yojna
FHTAHAT USTIR ATl

Question 27.Neeraj Chopra is associated with which sports?

ST TYST T A Bl Tel F T8 ?
Options:

1) Kabaddi

EEES

2) Cricket

fohehe

3) Javelin Throw

AT ek

4) Wrestling

Fe

Correct Answer: Javelin Throw
AT ek

Candidate Answer: Kabaddi
FHagar

Question 28.Which of the following is hot a commercial source of energy?

efafEd # & Flaar s & aiftifcas did 78 ¢ ?



Options:

1) Coal

PRI

2) Petroleum
veiforre

3) Natural Gas
e

4) Firewood
g

Correct Answer: Firewood
gyt

Candidate Answer: [ NOT ANSWERED ]

Question 29.Who is the runners-up in the recently held UEFA Euro-16?

&1eT 1 71 gU LU0, FI-16 F GE AT R FHef A7 ?

Options:

1) Germany

S

2) Portugal

qeraTe

3) France

W

4) U.K

eSS faersH

Correct Answer: France
W

Candidate Answer: Portugal
g

S
Question 30.Taoism, is an ancient tradition of Philosophy and religious belief deeply rooted in

ei3are, el AR nfFeh 3T B Teh UTeilel ORI & it feieifelfd & forem aTeY o9 & S8 3 87

Options:
1) Taiwanese custom and world view

e gar 3R Aeag e

2) Chinese custom and world view
it oo 3R freagfe

3) Japanese custom and world view
ST e 3R freagfe

4) Vietnamese custom and world view

et g iR faeagite

Correct Answer: Chinese custom and world view
elt g 3R Rreagive

Candidate Answer: [ NOT ANSWERED ]

Question 31.Which of the following is an emergency hormone in humans?

Al A feafaf@d 7 & splerar srdrdenrels grelfer § ?
Options:

1) Thyroxine

AT

2) Insulin

gogforT

3) Adrenalin

ufegaele

4) Progestrone

S

Correct Answer: Adrenalin
NEECric

Candidate Answer: Insulin

Ea— i)
Question 32.Which term is not associated with sound wave?

Aoy TN A PITHT 2eq T EHT Te & ?



Options:
1) Hertz
Bl

2) Decibel
EICES

3) Candela
FHegell

4) Mach
F=co
Correct Answer: Candela
FHegar

Candidate Answer: Decibel

ELeIEr]

Question 33.In computer science, data hazard occurs when

FFY [T #, SIeT I WA 3c9+T il § oI

Options:
1) pipeline changes the order of read/write access to operands

TETeTSe 5/TST T T e O3 & o deaT &t &

2) performance loss

T2 (RhHa) T gl §

3) machine size is limited

2T T ITHR WA &

4) some functional unit is not fully pipelined

IS HRIe IfAT T TE TS H 7 g

Correct Answer: pipeline changes the order of read/write access to operands
IIeTese 5/$T T T e Ha¥es & o dear & &

Candidate Answer: some functional unit is not fully pipelined

IS PereleTol Ffote A ALG TIeTalget o o g

Question 34.During the period of which Governor General / Viceroy was the Indian Civil Service introduced?

IR RafSer AT g ITaeR STel’el / TRIERIT & AT & SRTeT 3RS & 775 oY ?
Options:

1) Dalhousie

el

2) Curzon
Fotel

3) Bentick
Ifcew

4) Cornwallis

FlerdTiord

Correct Answer: Cornwallis

FledTiord
Candidate Answer: [ NOT ANSWERED ]

Question 35.Which of the following is the uppermost layer of the atmosphere?

Fefof@ra 3 & Fed argsse A T8 IO WA § ?
Options:

1) Stratosphere

FHAAIHST

(FTRRR)

2) Mesosphere

ALTHS

3) Ionosphere

TAAHSA

4) Exosphere

EIEEEC

Correct Answer: Exosphere
Sfgsse

Candidate Answer: Exosphere

CIFEERS
Question 36.The first Commercial Civilian Aircraft developed by India is :

AR G@ART T S arfoifores 3rifore arqane s §2



Options:

1) Pawan Hans
qaeT &

2) Tejas

ot

3) Gajraj
ISRTST

4) Saras

e

Correct Answer: Saras
R3Ieesk

Candidate Answer: Tejas

ao

Question 37.Webbed neck is a characteristic of

TBreolleR I (I8 ieh) fohaarr 31MAToT § ?
Options:

1) Down's syndrome

33 HelBToT

2) Turner's syndrome

T TereToT

3) Klinefelter's syndrome

FelTSeTthect TetaTor

4) Cri-du-chat syndrome

-39 TereTor

Correct Answer: Turner's syndrome
THAX HeARTOT

Candidate Answer: [ NOT ANSWERED ]

Question 38.The World Trade Organisation, which replaced GATT, has its Head Quarters in

faeq TR Waree, St 3 ‘e’ F T U, T FACATRT FEl 0 § ?
Options:

1) Vienna

T

2) Brussels

Eu)

3) New York

eicy

4) Geneva

fSear

Correct Answer: Geneva

Serar

Candidate Answer: Geneva
TSerar

Question 39.The minimum age limit for the membership of the Vidhan Parishad is .

e g Hr Ferarar & v s 3y a2 g ?
Options:

1) 21 years

219§

2) 25 years

259§

3) 30 years

309y

4) 35 years

35ay

Correct Answer: 30 years
30a¥

Candidate Answer: 25 years
25 ay

Question 40.National Anthem of Bangladesh 'Amar Sonar Bangla' was written by

SFECRT T IASET I, 'HTHAR TIAR sieTen’ foraer forgr ar ?



Options:

1) Rabindranath Tagore
TlegelTl &R

2) Sarojini Naidu
TS A5

3) Kazi Nazrul Islam
FISH sToT®el STATH

4) Taslima Nasrin

TENAT AT

Correct Answer: Rabindranath Tagore
TS &R

Candidate Answer: Kazi Nazrul Islam
FISI TToThel ST

Question 41.The largest producer of Lac in India is

SR  oIRG HT TEH 3Tk ScTeeT gl glar 87
Options:

1) Chattisgarh

BedE9G

2) Jharkhand

EIRECEE]

3) West Bengal

qf¥a# Farmer

4) Gujarat

ISR

)

Correct Answer: Jharkhand
SIRYUs

Candidate Answer: Chattisgarh
BTG

Question 42.The founder of Bachpan Bachao Andolan (Save Child Movement ) is

T T ITealoleT oh TEITIF Hiel 57
Options:

1) Malala Yousafzai

FAC IBTS

2) Sane Guruji

et &

3) Salman Khan

HelATeT Wlel

4) Kailash Satyarthi

Hermr Feardf

Correct Answer: Kailash Satyarthi
ST Heardt

Candidate Answer: Kailash Satyarthi
ST et

Question 43.If an electron and a photon have the same wavelength, then they will have the same

e fanell solereial 3R BicieT T HA dRISEY 81 ol SeTchl oo & & &1 THT g9 ?
Options:

1) velocity

I

2) linear momentum

& o

3) angular momentum

ol TaaT

4) energy

Bl

Correct Answer: linear momentum
@ d@aar
Candidate Answer: angular momentum

ol Faer

Question 44.Pandit Lachhu Maharaj, who passed away recently, was associated with

maaﬁgma,ﬁmmﬁrﬁa%aﬂm§m%,ﬁmﬁwﬁrs§a?



Options:

1) Flute

gl

2) Tabla

eell

3) Kathak
Hcdh

4) Bharatnatyam
I AATCTH

Correct Answer: Tabla
GECI

Candidate Answer: Tabla
ddell

Question 45.A tropical deciduous plant special to the Deccan plateau is

Rafaf@a & O sl sty gzt giur § Sit g & JoR $r fAdwarg ?
Options:

1) Teak

|reilst

2) Shisam

K

3) Sandalwood

Gl

4) Sal

Hlel

Correct Answer: Sandalwood
e

Candidate Answer: [ NOT ANSWERED ]

Question 46.Kalarippayatt is the martial art of which State of

FoRIURIC ohE T T AT 3ME & ?
Options:

1) Madhya Pradesh

FET G

2) Mizoram

eiReT

3) Nagaland

AT

4) Kerala

T

Correct Answer: Kerala

I
Candidate Answer: Nagaland

BICICE

Question 47.Leptospirosis is a disease caused by

ARTIRRIAT T AT § S Fefafad 7 @ fraagarg ?
Options:

1) Virus

farroy

2) Fungus

Hdeh

3) Protozoa

ErSN3T

4) None

gl H A HIg A

Correct Answer: None

gl H A HIg AG

Candidate Answer: Fungus
Shdsh

Question 48.The most abundant metal in the Earth's crust is

Gl ST q9ST A T SIS IIAT ST dTell T FHlerelt § ?



Options:

1) zinc

IEED

2) copper

GIE

3) aluminium

TogATH

4) iron

Ela)

Correct Answer: aluminium

TegAATH

S

Candidate Answer: [ NOT ANSWERED ]

Question 49.Hepatitis affects which organ of the human body?

gilersied AT RR & 79 39T FI yonfad axar g ?
Options:

1) Liver

[SCiry

2) Pancreas

IR

(3fsham)

3) Spleen

faeelr

4) Small intestine

BIET 3T

Correct Answer: Liver

R

Candidate Answer: Liver

R

Question 50.Mohammed Shahid, who recently passed away, was associated with which sport?

fere e, ﬁawm%‘rﬁmgm g AR EI A3 A ?
Options:

1) Badminton

ey

2) Hockey

grhr

3) Football

pedla

4) Cricket

forehe

Correct Answer: Hockey
gIhT

Candidate Answer: Hockey
gl

Question 51.A & B together finish a job in 24 days, while A, B & C together can finish the same job in 8 days. C alone will finish the job in

A 3R B fAeeR fhe 7 ot 24 T & aar & 31K A,B,C Toree 38 13 ot 8 feeT # TAed X Tehat &1 C 31holl 38 1 I fohcleY &t & TaATea ham ?
Options:

1) 12 days

12 et

2) 14 days

14 feat

3) 16 days

16 &=t

4) 24 days

24 f&t

Correct Answer: 12 days

12 &t

Candidate Answer: 12 days
12 &t

Question 52.Area of the circle inscribed in a square of diagonal 6v2 cm (in sq cm) is

6v2 T2, ol ater goT & e 7 el A2 & 19 S ?



Options:
19N

2)6
3)3n

4)
g2 x

Correct Answer: 911
Candidate Answer: 911

Question 53.The original price of a TV set is Rs. 6,000. If the price is discounted by 20% and then raised by 10% for service contract, the price charged by the
shopkeeper is

Tt ErefY A S #7eT A Rs. 6000 &1 T 38 HAT TN 20% T e fear Sw R T Yar-wfder & 9 # 10% TR 76T &7 ST A gehieTeR 37 el 3l AT T ol ?

Options:
1) Rs. 5400

2) Rs. 5280
3) Rs. 5100

4) Rs.4200
Correct Answer: Rs. 5280
Candidate Answer: Rs. 5280

Question 54.A certain sum of money was divided between A, B and C in the ratio 5:6:9. If A received Rs. 450 the sum divided was

IS TRTRT A,B 3R C o oier 5:6:9 & g0 # faenforer 1 a1$ | & A &Y Rs. 450 el 81 Al el Uiy fovctet o ?

Options:
1) 2000

2) 1800
3) 2250

4) 1000
Correct Answer: 1800
Candidate Answer: 2000

Question 55.By selling a bag at Rs. 230, profit of 15% is made. The selling price of the bag, when it is sold at 20% profit would be

Ry ST T Rs. 230 ST S UX 15% ST o167 &1 &1 TS ST Y 20% 8T IR 5747 ST Y 3T Sshr-dhled ad1sv ?

Options:
1) Rs.250

2) Rs.205
3) Rs.240

4) Rs.200
Correct Answer: Rs.240
Candidate Answer: Rs.250

Question 56.The weights of two iron balls are 3.5 kg and 7.5 kg. What is the percentage weight of the 1st ball with respect to 2nd ball.

2 @l % aMereht BT fet 3.5 6,311, 3R 7.5 f.am. B g@R alieies &Y Jefall & Ugel 3ok T dotel TTAAd Sd18y ?

Options:
1)

462%
3

2) 35%

3)
462%
3

4) 45%



Correct Answer:
462%
3

Candidate Answer: 35%

Question 57.A Bus travels at the speed of 36 km/hr, then the distance covered by it in one second is

Te 9 36 .. /der T A1 @ Torlt §1 TSV 9 Uk Gahus 7 fahelt gt o el ?
Options:

1)10m

10 A

2)15m

15 A

3)12.5m

12.5 Ay

4)135m

13.5 #Arex

Correct Answer: 10 m
10 Frex

Candidate Answer: 10 m
10 Hrex

Question 58.

The value of ﬁ g B

b—a

is

B ST AT
a—b b—a

Options:
1)

{a+d)/(a —b)

2)-1
3) 2ab

4)1
Correct Answer: 1
Candidate Answer: 1

Question 59.The value of (1 - V2) + (V2 - V3) + (V3 - V4) + ..... + (V15 - V16) is

(1-V2) + (V2 - V3) + (V3 - V4) + ..... + (V15 - V16) &I A 1T RfT ?

Options:
1)0

3)-3

4) 4
Correct Answer: -3
Candidate Answer: -3

Question 60.AABC and ADEF are two similar triangles and the perimeter of AABC and ADEF are 30 cm and 18 cm respectively. If length of DE = 36 cm, then length of
AB is

AABC 3T ADEF & Uas Sh& 38757 § 31X AABC T ADEF T aRferam sarer: 30 .74, 3 18 @3l €1 afg DE v oos 36 9.3, &1 At AB & oS TaIsU ?
Options:

1) 60 cm

60 .7

2) 40 cm

40 T.7.

3)45cm

45 T

4) 50 cm

50 {37

Correct Answer: 60 cm
60 .3



Candidate Answer: 60 cm
60 .7

Question 61.If the length of a chord of a circle is equal to that of the radius of the circle, then the angle subtended, in radians, at the centre of the circle by chord is

e, T gect & AT T TS Jod 1 o1 & SR g, A god & dheg IR ST GaRT e Rdl Ao (X139 &) 1 giam 2

Options:
1)1

2)",
3) M3
)",

Correct Answer: /3
Candidate Answer: [/,

Question 62.The value of (sec245° - cot2459) - (sin230° + sin260°) is

(sec245° - cot?45°) - (sin230° + sin260°) T AT T &N ?

Options:
1)1

2) 2v3
3)0

4)
1/4/2
Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

Question 63.The average salary of male employees in a firm was Rs. 5200 and that of females was Rs. 4200. The mean salary of all the employees was Rs. 5000.
What is the % of female employees?

T3l T & TET FIADNNHT &7 T aAeT Rs. 5200 2T AT AT FHeTenfiai &7 Rs. 4200 1| TS Tfr FoFamiat &1 farrt A adeT Rs. 5000 g1, af Afger swareniat ar
gfded FaT g ?

Options:
1) 80%

2) 20%
3) 40%

4) 30%
Correct Answer: 20%
Candidate Answer: 20%

Question 64.

1
_ e N ]
If 4x =5 + 2, then the value of x— _16x15

Jfrax =5+2, g‘raﬁ‘x—éwmwgﬁr?

Options:
1)1

2)-1
3)4

4) 2v/s5
Correct Answer: 1
Candidate Answer: 2v/5

Question 65.The cube of 105 is

105 FTaT FATE ?



Options:
1) 1157625

2) 1175625
3) 1185625

4) 1158625
Correct Answer: 1157625
Candidate Answer: 1157625

Question 66.In AABC, «B is right angle, D is the mid point of the side AC. If AB = 6 cm, BC = 8cm, then the length of BD is

AABC A 2B HHHIUT §| 3 {5 AC W D #ew =g §1 7 AB = 6 @3, BC = 8 A3, g1 A1 BD 1 oioa1g &3V ?
Options:

1)4cm

4 3.5

2)5cm

5.

3)8cm

8 oA

4) 12 cm

1297

Correct Answer: 5 cm

53

Candidate Answer: 5 cm
5 @A

Question 67.The diagonals of two squares are in the ratio 5:2.The ratio of their area is

& g3t & farepult T JreTTer 5:2 & A1 931 & &TAthel T 3T A AT ?
Options:

1) 5:6

2) 25:4

3) 5:4

4) 125:8
Correct Answer: 25:4
Candidate Answer: 25:4

Question 68.The angle of elevation of a ladder leaning against a wall is 60° and the foot of the ladder is 4.6 m away from the wall. The length of the ladder is

e QAR F el e T 7 3eeraet o7 600 § 3R W F I QAR F 4.6 Fex Hr g I E | W FHr TS TAST ?
Options:

1)23m

2.3 X

2)46m

4.6 Fiex

3)9.2m

9.2 A

4)7.8m

7.8 WX

Correct Answer: 9.2 m
9.2 X

Candidate Answer: 9.2 m
9.2 A

Question 69.The product of two 2-digit numbers is 2160 and their H.C.F. is 12. The numbers are

2 37 &Y FEATHT T IOTAReT 2160 § R IeTHT HgedTd FHATEH 12 | IAN HEIAT F27 § ?

Options:
1) (12, 60)

2) (72, 30)
3) (36, 60)

4) (60, 72)
Correct Answer: (36, 60)
Candidate Answer: (12, 60)



Question 70.The difference between simple and compound interests compounded annually on a certain sum of money for 2 years at 4% per annum is Rs. 1. The sum
(inRs.) is:

TRt TR 0¥ 4% e A X A 2 a¥ & fAw (a1 &7 § FANAT) WROT 31T 3R THRE sTTT 7 3ee Rs. 1 81 T8 GOy 77 82

Options:
1) 620

2) 630
3) 640

4) 625
Correct Answer: 625
Candidate Answer: [ NOT ANSWERED ]

Question 71.In a mixture of 25 litres, the ratio of milk to water is 4:1. Another 3 litres of water is added to the mixture. The ratio of milk to water in the new mixture
is

25 e & TH0T G R TT=AT T AT AT 4:1 81 TS 907 3 3 Shex a1l 3R & feam Se o ot # gor 3R ardt &7 31e]aret &7 giam ?

Options:
1)5:1

2)5:2
3)5:3

4)5:4
Correct Answer: 5:2
Candidate Answer: 5:4

Question 72.A constituency is divided in four regions A, B, C and D. Two candidates X & Y contested the last election from that constituency. The adjoining graph
gives the break up of voting in the four regions. Study the graph and answer the following questions.

O forafTeret &1 sl AR &3t A,B,C,D # difer aram 8| & UednfAdt X aur Y o 3 fdTert a1 & F=1a o1sT| Jgl AT a1 ek feTeret &7 & =IRY a¥a &l bl 3efeT 3rerer gefiar
&1 TR T eIT HTAT 3R Fr=faf@a geat & 3car Q5w

e .| Votedinfavourof X
® S_S [ l “ Voted in favour of Y
| Didnot vate
70 =
2 w B
H | 51
[+
2 = as = 47 =
g = :
- M | i
S 40 = ==t =
o
=
30 | !
20
10 — | | — 9 | = i
1 = 5 = =
Rl = m SN
A B c o

Regions

Approximately how much percent of voters voted in favour of X?

I Tohcer ufdera Aderamsit o X & uaT & AderT fohar ?

Options:
1)45.4

2) 47.5
3)50

4) 225
Correct Answer: 47.5
Candidate Answer: [ NOT ANSWERED ]



Question 73.A constituency is divided in four regions A, B, C and D. Two candidates X & Y contested the last election from that constituency. The adjoining graph
gives the break up of voting in the four regions. Study the graph and answer the following questions.

T forafTeret &1 s IR &7 A,B,C,D & dfer 11 8| 2 JedifRIat X a4 Y & 59 fodTere &7 @ ge11a <1sT| Jg! AT 17 I7eh TaTeret &7 3 =IRY &7 & Hcil T 3eeT 37T gefiar
&1 ITH T T HIoIT IR AT 92a1 & 3eak QiAT|

100 Voted in favour of X

a8 ] [ll Voted in favour of Y

Did not vote
73 -

g & 2 B B8

[
8

No of voters 1000

g

10

|
L

=
w
(e
[=]

Regions

Approximately how much percent of voters did not caste their votes?

TRISAT fohcdel WAL FAASIA3N o Adeld sTaT fhar?

Options:
1) 4.9

2) 45
3)0.23

4) 23
Correct Answer: 4.9
Candidate Answer: 0.23

Question 74.A constituency is divided in four regions A, B, C and D. Two candidates X & Y contested the last election from that constituency. The adjoining graph
gives the break up of voting in the four regions. Study the graph and answer the following questions.

O forefTeret &1 sl IR &4t A,B,C,D # dfer 71T 8| & WednfAIAt X dr Y of 39 et a1  F=1a <1sT| Jgt o a1y 7 et &1 & aRY &¥a & #all sl 31eeT 3rerr gefar
& 3T T e DT IR Aol geat & seaw afaw

100 | Votedinfavour of X
20 48 ][ll Voted in favour of ¥
| Didnotvote
N e — *
g
g
|
$ =0 as =
2 £ a0 : .
S 40 ] E =
o | |
H | |
10 =l . =i _? { — 5 8
[} =—|l | \[su] =" | 15| = E=] =
A B e o

Regions

In region B, Y gets A% more votes than X. Find the value of A?

ST B #H, Y A X T A% 3110 #d Al | A &7 AT aqr3it ?

Options:
1) 24%

2) 21%
3) 19%

4) 15%
Correct Answer: 21%



Candidate Answer: [ NOT ANSWERED ]

Question 75.A constituency is divided in four regions A, B, C and D. Two candidates X & Y contested the last election from that constituency. The adjoining graph
gives the break up of voting in the four regions. Study the graph and answer the following questions.

O forafferet &1 sl AR &¥t A,B,C,D # difer aram 8| & UednfAat X dur Y o 59 fAdTert &t & g=1ra o1sT| Jgt AT a1 aneh et a7 & =RY ava & el ol 3o vt gefiar
g1 IR T 3T PT 3R ReAfaf@aT vt & 3car dfow|

100 Voted in favour of X
90 88 [ l i I Voted in favour of Y
80 3 Did not vote
?ﬂ E ::
3 56
g @ i =
ﬁ 50 45 |= |
o :
= 40 ||
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-4 |
=
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20
- =
10 = . | 9 5 i 8 1
0 = = ] =111
A ] [ [}

Regions

Nearly what percentage of his total votes did X receive from region B?

xﬁﬁa@aﬁwmmwﬁmmmsﬁmgm?

Options:
1) 30

2)31
3) 32

4) 35
Correct Answer: 32
Candidate Answer: 35

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

INSOLENT

Options:

1) DISTASTEFUL

2) IMPATIENT

3) DIABOLIC

4) RUDE

Correct Answer: RUDE
Candidate Answer: IMPATIENT

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

VIRTUE

Options:

1) WILES

2) CURSE

3) VICE

4) CUNNING

Correct Answer: VICE

Candidate Answer: CURSE

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Tranquility

2) Tranquillity

3) Trankquility

4) Trankwility

Correct Answer: Tranquillity

Candidate Answer: Tranquility



Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Could she cite (A)/ any precedent in support (B)/ for her case? (C)/ No Error(D)

Options:

1)A

2)B

3)C

4)D

Correct Answer: C
Candidate Answer: A

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The General Manager of the industry has felt (A)/ that there is no use of (B)/ discussing about the problems with the labourers. (C)/No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

She enquired from the stranger (A)/ who was he and (B)/ what he wanted from her. (C)/ No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: [ NOT ANSWERED ]

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

We acted on a impulse.
Options:

1) momentary

2) momentous

3) memorable

4) meritorious

Correct Answer: momentary
Candidate Answer: memorable

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Do your best and we'll back you
Options:

1) on

2)in

3) out

4)up

Correct Answer: up
Candidate Answer: up

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Sanjay his mother in the morning everyday.
Options:

1) calls in

2) calls up

3) calls off

4) calls down

Correct Answer: calls up
Candidate Answer: calls up

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Put two and two together



Options:

1) Bad at mathematics

2) Poor financial condition
3) Reason logically

4) Forget something

Correct Answer: Reason logically
Candidate Answer: Reason logically

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

An axe to grind
Options:

1) Attack aggressively

2) Suffer a lot

3) Betray somebody

4) Have a selfish interest

Correct Answer: Have a selfish interest
Candidate Answer: Attack aggressively

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Pick to pieces

Options:

1) Study something superficially
2) Complete a work entirely

3) Analyse critically

4) Select only what you need.

Correct Answer: Analyse critically
Candidate Answer: Select only what you need.

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A person who lays too much stress on bookish-learning
Options:

1) Pervert

2) Pedant

3) Philosopher

4) Scholar

Correct Answer: Pedant

Candidate Answer: Scholar

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Postponement or delay permitted in the suffering of a penalty or the discharge of an obligation.
Options:

1) Respite

2) Spire

3) Splurge

4) Scourge

Correct Answer: Respite

Candidate Answer: Respite

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Deviation from the right course
Options:

1) Imagination

2) Amalgamation

3) Illumination

4) Aberration

Correct Answer: Aberration
Candidate Answer: Illumination

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

He likes to drive his car at a speed of eighty kilometres each hour.
Options:

1) every hour

2) an hour

3) hourly

4) No improvement

Correct Answer: an hour

Candidate Answer: [ NOT ANSWERED ]



Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

His argument against his opponent duly brought jeers from the crowd.
Options:

1) invective

2) praise

3) controversy

4) No improvement

Correct Answer: invective

Candidate Answer: praise

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Do you know the time when the train departs?
Options:

1) which

2) by

3) that

4) No improvement

Correct Answer: No improvement

Candidate Answer: [ NOT ANSWERED ]

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

I'm staying with some friends who are owning a farm.
Options:

1) will be owning

2) own

3) have been owning

4) No improvement

Correct Answer: own

Candidate Answer: [ NOT ANSWERED ]

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

An old friend, may I give you an advice?
Options:

1) give you some advice

2) give you an advise

3) offer you an advice

4) No improvement

Correct Answer: give you some advice
Candidate Answer: offer you an advice

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The Alaska pipeline starts at the frozen edge of the Arctic Ocean. It stretches southward across the largest and northernmost state in the United States, ending at a
remote ice-free seaport village nearly 800 miles from where it begins. It is massive in size and extremely complicated to operate. The steel pipe crosses windswept
plains and endless miles of delicate tundra that tops the frozen ground. It weaves through crooked canyons, climbs sheer mountains, plunges over rocky crags, makes
its way through thick forests, and passes over or under hundreds of rivers and streams. The pipe is 4 feet in diameter, and up to 2 million barrels (or 84 million
gallons) of crude oil can be pumped through it daily. Resting on H-shaped steel racks called "bents", long sections of the pipeline follow a zigzag course high above
the frozen earth. Other long sections drop out of sight beneath spongy or rocky ground and return to the surface later on. The pattern of the pipeline's up-and-down
route is determined by the often harsh demands of the arctic and subarctic climate, the tortuous lay of the land, and the varied compositions of soil, rock, or
permafrost (permanently frozen ground). A little more than half of the pipeline is elevated above the ground. The remainder is buried anywhere from 3 to 12 feet,
depending largely upon the type of terrain and the properties of the soil. One of the largest in the world, the pipeline cost approximately $8 billion and is by far the
biggest and most expensive construction project ever undertaken by private industry. In fact, no single business could raise that much money, so 8 major oil
companies formed a consortium in order to share the costs. Each company controlled oil rights to particular shares of land in the oil fields and paid into the pipeline-
construction fund according to the size of its holdings. Today, despite enormous problems of climate, supply shortage, equipment breakdowns, labour disagreements,
treacherous terrain, a certain amount of mismanagement, and even theft, the Alaska pipeline has been completed and is operating.

The Alaskan pipeline ends

Options:

1) north of Alaska

2) at a seaport village

3) after passing through canyons and rivers
4) at a tundra covered village

Correct Answer: at a seaport village
Candidate Answer: at a tundra covered village



Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The Alaska pipeline starts at the frozen edge of the Arctic Ocean. It stretches southward across the largest and northernmost state in the United States, ending at a
remote ice-free seaport village nearly 800 miles from where it begins. It is massive in size and extremely complicated to operate. The steel pipe crosses windswept
plains and endless miles of delicate tundra that tops the frozen ground. It weaves through crooked canyons, climbs sheer mountains, plunges over rocky crags, makes
its way through thick forests, and passes over or under hundreds of rivers and streams. The pipe is 4 feet in diameter, and up to 2 million barrels (or 84 million
gallons) of crude oil can be pumped through it daily. Resting on H-shaped steel racks called "bents", long sections of the pipeline follow a zigzag course high above
the frozen earth. Other long sections drop out of sight beneath spongy or rocky ground and return to the surface later on. The pattern of the pipeline's up-and-down
route is determined by the often harsh demands of the arctic and subarctic climate, the tortuous lay of the land, and the varied compositions of soil, rock, or
permafrost (permanently frozen ground). A little more than half of the pipeline is elevated above the ground. The remainder is buried anywhere from 3 to 12 feet,
depending largely upon the type of terrain and the properties of the soil. One of the largest in the world, the pipeline cost approximately $8 billion and is by far the
biggest and most expensive construction project ever undertaken by private industry. In fact, no single business could raise that much money, so 8 major oil
companies formed a consortium in order to share the costs. Each company controlled oil rights to particular shares of land in the oil fields and paid into the pipeline-
construction fund according to the size of its holdings. Today, despite enormous problems of climate, supply shortage, equipment breakdowns, labour disagreements,
treacherous terrain, a certain amount of mismanagement, and even theft, the Alaska pipeline has been completed and is operating.

What is the capacity of the Alaskan pipeline?
Options:

1) 2 million gallons of crude oil

2) 4 million barrels of crude oil

3) 84 million gallons of crude oil

4) 84 billion barrels of crude oil

Correct Answer: 84 million gallons of crude oil
Candidate Answer: 84 million gallons of crude oil

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The Alaska pipeline starts at the frozen edge of the Arctic Ocean. It stretches southward across the largest and northernmost state in the United States, ending at a
remote ice-free seaport village nearly 800 miles from where it begins. It is massive in size and extremely complicated to operate. The steel pipe crosses windswept
plains and endless miles of delicate tundra that tops the frozen ground. It weaves through crooked canyons, climbs sheer mountains, plunges over rocky crags, makes
its way through thick forests, and passes over or under hundreds of rivers and streams. The pipe is 4 feet in diameter, and up to 2 million barrels (or 84 million
gallons) of crude oil can be pumped through it daily. Resting on H-shaped steel racks called "bents", long sections of the pipeline follow a zigzag course high above
the frozen earth. Other long sections drop out of sight beneath spongy or rocky ground and return to the surface later on. The pattern of the pipeline's up-and-down
route is determined by the often harsh demands of the arctic and subarctic climate, the tortuous lay of the land, and the varied compositions of soil, rock, or
permafrost (permanently frozen ground). A little more than half of the pipeline is elevated above the ground. The remainder is buried anywhere from 3 to 12 feet,
depending largely upon the type of terrain and the properties of the soil. One of the largest in the world, the pipeline cost approximately $8 billion and is by far the
biggest and most expensive construction project ever undertaken by private industry. In fact, no single business could raise that much money, so 8 major oil
companies formed a consortium in order to share the costs. Each company controlled oil rights to particular shares of land in the oil fields and paid into the pipeline-
construction fund according to the size of its holdings. Today, despite enormous problems of climate, supply shortage, equipment breakdowns, labour disagreements,
treacherous terrain, a certain amount of mismanagement, and even theft, the Alaska pipeline has been completed and is operating.

What are "bents"?

Options:

1) Zigzag shape of pipeline

2) Pipeline's up and down route

3) The section of the pipeline that drops out of sight
4) The H-shaped steel racks

Correct Answer: The H-shaped steel racks
Candidate Answer: The H-shaped steel racks

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The Alaska pipeline starts at the frozen edge of the Arctic Ocean. It stretches southward across the largest and northernmost state in the United States, ending at a
remote ice-free seaport village nearly 800 miles from where it begins. It is massive in size and extremely complicated to operate. The steel pipe crosses windswept
plains and endless miles of delicate tundra that tops the frozen ground. It weaves through crooked canyons, climbs sheer mountains, plunges over rocky crags, makes
its way through thick forests, and passes over or under hundreds of rivers and streams. The pipe is 4 feet in diameter, and up to 2 million barrels (or 84 million
gallons) of crude oil can be pumped through it daily. Resting on H-shaped steel racks called "bents", long sections of the pipeline follow a zigzag course high above
the frozen earth. Other long sections drop out of sight beneath spongy or rocky ground and return to the surface later on. The pattern of the pipeline's up-and-down
route is determined by the often harsh demands of the arctic and subarctic climate, the tortuous lay of the land, and the varied compositions of soil, rock, or
permafrost (permanently frozen ground). A little more than half of the pipeline is elevated above the ground. The remainder is buried anywhere from 3 to 12 feet,
depending largely upon the type of terrain and the properties of the soil. One of the largest in the world, the pipeline cost approximately $8 billion and is by far the
biggest and most expensive construction project ever undertaken by private industry. In fact, no single business could raise that much money, so 8 major oil
companies formed a consortium in order to share the costs. Each company controlled oil rights to particular shares of land in the oil fields and paid into the pipeline-
construction fund according to the size of its holdings. Today, despite enormous problems of climate, supply shortage, equipment breakdowns, labour disagreements,
treacherous terrain, a certain amount of mismanagement, and even theft, the Alaska pipeline has been completed and is operating.

How was the fund for pipeline - construction generated?

Options:

1) 8 major oil companies joined hands to share the cost

2) 8 major oil companies borrowed $8 billion.

3) A single private company raised $8 billion

4) Oil rights were sold to 8 major oil companies

Correct Answer: 8 major oil companies joined hands to share the cost

Candidate Answer: [ NOT ANSWERED ]



Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

The Alaska pipeline starts at the frozen edge of the Arctic Ocean. It stretches southward across the largest and northernmost state in the United States, ending at a
remote ice-free seaport village nearly 800 miles from where it begins. It is massive in size and extremely complicated to operate. The steel pipe crosses windswept
plains and endless miles of delicate tundra that tops the frozen ground. It weaves through crooked canyons, climbs sheer mountains, plunges over rocky crags, makes
its way through thick forests, and passes over or under hundreds of rivers and streams. The pipe is 4 feet in diameter, and up to 2 million barrels (or 84 million
gallons) of crude oil can be pumped through it daily. Resting on H-shaped steel racks called "bents", long sections of the pipeline follow a zigzag course high above
the frozen earth. Other long sections drop out of sight beneath spongy or rocky ground and return to the surface later on. The pattern of the pipeline's up-and-down
route is determined by the often harsh demands of the arctic and subarctic climate, the tortuous lay of the land, and the varied compositions of soil, rock, or
permafrost (permanently frozen ground). A little more than half of the pipeline is elevated above the ground. The remainder is buried anywhere from 3 to 12 feet,
depending largely upon the type of terrain and the properties of the soil. One of the largest in the world, the pipeline cost approximately $8 billion and is by far the
biggest and most expensive construction project ever undertaken by private industry. In fact, no single business could raise that much money, so 8 major oil
companies formed a consortium in order to share the costs. Each company controlled oil rights to particular shares of land in the oil fields and paid into the pipeline-
construction fund according to the size of its holdings. Today, despite enormous problems of climate, supply shortage, equipment breakdowns, labour disagreements,
treacherous terrain, a certain amount of mismanagement, and even theft, the Alaska pipeline has been completed and is operating.

Which of the following were not problems faced while constructing the pipeline?
Options:

1) Supply shortages

2) Treacherous terrain

3) Lack of funds

4) Equipment breakdown

Correct Answer: Lack of funds

Candidate Answer: [ NOT ANSWERED ]



